Ferris Wheel Questions

1. Radius: 20 m

Bottom of Wheel is 4 m above the ground

Revolution: 3 minutes

Rider starts at the middle, heading up

a) What is the elevation after 1 minute 20 seconds?

b) When is the fourth time the rider is 22 m above the ground?

2. Radius: 12 m

Bottom of Wheel is 2 m above the ground

Revolution: 2 minutes

Rider starts at the middle, heading down

c) What is the elevation after 2 minute 10 seconds?

d) When is the third time the rider is 11 m above the ground?

3. Diameter: 20 m

Bottom of Wheel is 1 m above the ground

Revolution: 4 minutes

Rider starts at the top

e) What is the elevation after 15 seconds?

f) When is the first time the rider is 11 m above the ground?

4. Diamter: 12 m

Center of Wheel is 7 m above the ground

Revolution: 3 minutes

Rider starts at the middle, heading down

g) What is the elevation after 3 minutes 5 seconds?

h) When is the fourth time the rider is 11 m above the ground?

5. Radius: 20 m

Top of Wheel is 42 m above the ground

Revolution: 1 minute

Rider starts at the bottom, heading up

i) What is the elevation after 3 minutes 50 seconds?

j) When is the fourth time the rider is 5 m above the ground?

